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1 Simplify:  3(4a-1)(4a+1) –  (2a-1)2        (6) 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………… [6] 

2. Factorise the following: 

2.1 3a2y2 – 27a2p2 ……………………………………………………………………………………………………………………………………………………………………………  

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… (2) 

2.2 2a2 - 16a + 32 ……………………………………………………………………………………………………………………………………………………………………………  

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… (3) 

2.3 6a2 - 13a + 6  ……………………………………………………………………………………………………………………………………………………………………………  

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… (2) 

 
2.4 6a2 + 5a – 6  ……………………………………………………………………………………………………………………………………………………………………………  

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… (2) 

2.5 a2(p - 2b) – (p - 2b) ……………………………………………………………………………………………………………………………………………………………………………  

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… (3) 

 
2.6 75a2 – 27y2  ……………………………………………………………………………………………………………………………………………………………………………  

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… (2) 



 

2.7 2a4 – 26a2 + 72 ……………………………………………………………………………………………………………………………………………………………………………  

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… (5) 

             [19] 

 
3.  Given:                             (𝑎 − 1)2 =  𝑎2 − 2𝑎 + 1 

3.1   Complete:  3.1.1 (𝑎 − 2)2 = ……………………………………………………………………………………………………………………… 

               = ………………………………………………………………………………………………………………………  (2) 

 

                3.1.2    (𝑎 − 3)2 = ……………………………………………………………………………………………………………………… 

               = ………………………………………………………………………………………………………………………  (1) 

 

3.2    If         (𝑎 − 𝑝)2  =  𝑎2 − 14𝑎 + 𝑐 , find the value of c.   (2) 

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 
 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 

 

             [5] 


